[ Efficiency vs vertpos |

o ERE - CRE o o

0.95 . :
1072 10 1

2

== BV :‘s’ii%‘]”a'|‘:'6‘T6‘ﬁ
= %g SIS R
(Efficiend == BRM-H—3rqinal spiigne

~ 0.1

S A A SR S S

Ao N
>0.08F------ e R S i e
> E : : : : :
2 E : : : : :
TRl S S S A
3] E : : : : :
£0.06------ renneedeeeneeee S N Preenees
o E : : : : :
R L S S I S
) S RS M

Y0 S R S —
002 frv }+ :
St L Ly o

Vs

Ratio
N
!IIII LB

09/ —=20 =10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~0.05
>
00.045
S
#0-04
$.035
3
£0.03
Q
9.025
()
0.02
0.015
0.01

0.005

..............................

Y
+

|

1.0

Ratio

5 10 15 20
Sim. PV z (cm)

I
o
a -
o



	Contents
	Page 1


